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Read Only Memory(ROM)

As the name suggests , Read Only Memory or ROM , stores information
that can only be read. Modifying it is either impossible or very difficult.

It is a type of non-volatile storage, which means that the information is
maintained even if the component loses power.

It is located on the motherboard .

Firmware of the computer
BIOS
CD-ROM




ADVANTAGES

Permanent and secure data storage

More reliable than RAM since ROM is
non-volatile and cannot be altered or
accidently changed.

Less expensive than RAM

Easy to test

DISADVANTAGES

Slower type of memory

Once the data is stored in ROM , you
cannot modify, delete or overwrite it
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